4inch = r

C= 2Pir

c= 8Pi

loops between check (default)= 8

distance = 8Pi/distance per click

speed = time/distance

speed = time/(8Pi/distance per click)

speed = time*distance per click/8Pi

time = loops between check

speed(real) = loops between check*distance per click/8Pi

spead(given) = 5550*joystick

for(int i = 0; i < 4; i++) {


int secondsBetweenCheck = 5;


float distancePerClick = 0;


float distancePerRevolution = 8*3.141526;


float speedGivenL = 5550*StickLeft.GetY();


float speedGivenR = 5550*StickRight.GetY();


float speedReal;


float speedDifference;


float speedToAdd;


switch(i) {



case 0:




SpeedReal = ((distancePerClick*EncoderLF.Get()*secondsBetweenCheck)/distancePerRevolution)*(60/secondsBetweenCheck);




speedDifference = speedGiven-speedReal;




speedToAdd = speedDifference/5550;




MotorLF.Set(StickLeft.GetY()+speedToAdd);




break;



case 1:




SpeedReal = ((distancePerClick*EncoderLB.Get()*secondsBetweenCheck)/distancePerRevolution)*(60/secondsBetweenCheck);




speedDifference = speedGiven-speedReal;




speedToAdd = speedDifference/5550;




MotorLB.Set(StickLeft.GetY()+speedToAdd);




break;



case 2:




SpeedReal = ((distancePerClick*EncoderRF.Get()*secondsBetweenCheck)/distancePerRevolution)*(60/secondsBetweenCheck);




speedDifference = speedGiven-speedReal;




speedToAdd = speeRight.GetY()+speedToAdd);




MotorRF.Set(stickRight.GetY()+speedToAdd);




break;



case 3:




SpeedReal = ((distancePerClick*EncoderRB.Get()*secondsBetweenCheck)/distancePerRevolution)*(60/secondsBetweenCheck);




speedDifference = speedGiven-speedReal;




speedToAdd = speedDifference/5550;




MotorRB.Set(stickRight.GetY()+speedToAdd);




break;



}

}

